SH: UXRIEEEM Y
Hu: HAS AXT Y

fan)

X FHAAHS LAelXNE

I

E 0 & AHE & A A
ot

SA - ZE . BR() - HRAR - BES of v G o HIDE2
EUNTE=ISESR; 10,902,304 8,309,630 2,592,674
= 673,679
[ 484,180
= 1,063,457
Al 8,690,988
MNAS AR & FHAAS LA 7,856,673 3,424,489 4,432,184
= 425,279
[ 484,180
= 726,417
Al 6,220,797
S3ZZAE 4,945,101 1,937,040 3,008,061
S3TEANL 4,945,101 1,937,040 3,008,061
101 @124H| 4,860,101 1,892,040 2,968,061
U IIRINZZENSES 4,860,101 1,892,040 2,968,061
O33ZZANY 4,860,101
sl 1,148,960 1, 000 x4 & +23] x50% 4,595,840
- 28s 4,595,840,000& 11. 5%*50% 264,261
201 Eer23 | 5,000 5,000
01 At2tltl 5,000 5,000
Odgt=3=H| 5,000
—SESITAIY ERFA AFR2 ]
2,500,000 *23] 5,000
206 T2l 80,000 40,000 40,000
01 2 80,000 40,000 40,000
ORZ22AY M
80,000,000& *14{ 80,000
Lt KA 2,911,572 1,487,449 1,424,123
= 425,279
[ 484,180
= 726,417
Al 1,275,696
AIED G S Y (LARIEE XI-) 581,317 581,317 0
[ 427,530
= 28,501
Al 125,286
201 er2&| 7,800 7,800
01 At2teltl 7,800 7,800
OAt2IX N gdat 2Ida ¢
100,000 8 »23] 1,600
Oget=EH| 1,700
-ARRIEERDIE 2R
1,700,000& %12 1,700
OAR2IXZ M OO0l XEE AHEE 23 4,500




2A:

ol
=2

AeldHE
al

B HAS AN U HAHE LK2IX
el eI XIZAAIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-SE2MHA & SHHE MH
2,000,000 %14 2,000
St uly 30,0002 *50 1,500
28 228 78 1,000,000 *14] 1,000
202 04| 900 900
01 =LHO LI 900 900
OAlIH)|gdsd /08 & usEA
150,000& 2 & *32 900
301 EtE N = 2,600 2,600
14 DBt 2 a3 2,600 2,600
OABIHZH OIHEI0l S Mg
2,600,000 %14 2,600
307 21201 & 570,017 570,017 0
[ 427,530
= 28,501
Al 113,986
02 QIZtEHAEE X 570,017 570,017 0
OAMEIEDIY L2IEE At (ptelsd)
398,237,000 x14] 398,237
[ 298,695
= 19,912
Al 79,630
OMERDIY |4 (H2H)
171,780,000 * 14! 171,780
[ 128,835
= 8,589
Al 34,3%
AR = E (AFGIREHI) 114,049 114,049 0
= 79,835
= 10,264
Al 23,950
307 gl2to| & 114,049 114,049 0
= 79,835
= 10,264
Al 23,950
02 2IZHBYAIHE & 114,049 114,049 0
OAIRIZDIY AFZOHEHl R
114,049,000 *14] 114,049
= 79,835
= 10,264
Al 23,950
A EDIERE (MEIEER) 22,200 22,200 0
16,650

SRR

1,110




2A:

NGRS SES RN,
al

B HAS AN U HAHE LK2IX
el eI XIZAAIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 4,440
307 gl2tol & 22,200 22,200 0
[ 16,650
= 1,110
Al 4,440
02 2IZHBYAIHE X 22,200 22,200 0
OAlZI DY A28 XIF
22,200,000 *14] 22,200
[ 16,650
= 1,110
Al 4,440
AR H M D3t XA 42,720 42,720 0
= 17,088
Al 25,632
307 @120l & 42,720 42,720 0
== 17,088
Al 25,632
02 LB HANHEE 42,720 42,720 0
OARIZHZ MDY DA AIS
42,720,000 x14] 42,720
= 17,088
Al 25,632
ARIEBMIIY AEEHl XA 136,012 102,670 33,342
= 40,803
Al 95,209
402 2I2F X201 & 136,012 102,670 33,342
== 40,803
Al 95,209
02 QI EASEZ(0IETHR) 136,012 102,670 33,342
OASIEZRDIIY AlIE&HI7R2Hl X
136,012,000 * 14| 136,012
& 40,803
Al 95,209
AR EDIY X HS3AY 25,440 25,440 0
= 17,808
S 2,290
Al 5,342
307 glztol & 25,440 25,440 0
= 17,808
S 2,290
Al 5,342
02 LB HANHEE 25,440 25,440 0
OARIHD1 XIHSotAr
25,440,000 * 14| 25,440




2A:

[=ha}

NGRS SES RN,
al

M MAS AL R FHAANS A2
=t XX ALS (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 17,808
S 2,290
Al 5,342
KIS XHatet X2 AHS 5,000 5,000 0
307 212+01& 5,000 5,000
08 OIXt2& S 5,000 5,000
OXIS Xtakst X3 AF
5,000,000 *17H 2~ 5,000
HOIEH D271 SEAE 80,900 80,900 0
= 40,000
< 12,000
Al 28,900
202 04l 900 900
01 =LHAHI 900 900
On2Ilgss 998 2 DRAA
150, 000& »2& +32 900
307 @120l & 80,000 80,000 0
[ 40,000
= 12,000
Al 28,000
02 QB EANGEEE 80,000 80,000 0
OdetRd 0tE)1g =4 A&
80,000,000 *14] 80,000
[ 40,000
= 12,000
Al 28,000
dge OBI0E)1e N3 A 40,000 36,000 4,000
S 12,000
Al 28,000
307 @120l & 40,000 36,000 4,000
== 12,000
Al 28,000
02 QIHHAANGE R 40,000 36,000 4,000
Odgd oHIt=SJIe =4 K&
20,000,000 *2H 2~ 40,000
= 12,000
Al 28,000
axelEE FH 67,250 124,700 A57,450
201 er23y| 16,500 11,200 5,300
01 AtR2t2|HI 16,500 6,200 10,300
Ogegt+=ZHI 11,500
-2tel R0/ 1S BIOLNHE M
10,0002 0 *12] 900




SH: UXRIEEEM Y
ZE: HAS AT Y HUHS LX2AN

fan)

el eI XIZAAIS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-2l B E A2 EoHle HIA
500,000& 14] 500
NS xel SESAM EItAE W&
110,000 »30& 3,300
~H=XN LA LXteltie 2EXZ
= 3,000,000& %12 3,000
-2xelotEIls EES(RIEH S) ME
2,0003+900F+13] 1,800
-OHEtel=2 Xt AAZFI 222 S M
e 2,000,000 *14] 2,000
Oogxz 5,000
-tHetel= eXte| AAZFHI FAYIZ
5,000,000& 12 5,000
202 04t 3,750 1,500 2,250
01 =LHOHI 3,750 1,500 2,250
OXlgdXie] SESAIN |38 L 4Y3)
=Pl 150,000 x2& »23] 600
ogtel= edxte| AARZ FHI}
150,000 *3& 4L 1,800
Ogdg NSsLel SHEE A48 &4
150,000 32 »33] 1,350
303 Z&=s 2,000 2,000
01 o= 2,000 2,000
OARIHEMIIENSE U RFA &2
o 2,000,000& %12 2,000
307 212+01& 45,000 85,000 240,000
02 LB HANHEE 15,000 85,000 A70,000
O=ZAl 7ol - 7 ergol
15,000,000 *13] 15,000
04 CIZHHAMAIH 2 & 30,000 0 30,000
OAIRE R SOt AL
30,000,000& *12] 30,000
NEYESE LACIXZ 3,500 53,500 50,000
201 et 3| 2,000 2,000 0
01 AtR2tc|Hl 2,000 2,000 0
OLNESDI & NeLiel 2= %
2,000,000& *14] 2,000
202 04l 1,500 1,500
01 2LHoIH 1,500 1,500
OdeIFE JI& g2 &4 0l
150,000 x2& #53] 1,500
g8 dEd YL Eeis NZ A 19,200 19,200 0
s 5,760
Al 13,440
307 @I2t01 & 19,200 19,200 0
& 5,760




A EhelEEE M
B HAS AN U HAHE LK2IX
el eI XIZAAIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 13,440
02 QA AAEE X 19,200 19,200 0
Odgd Asd sLdiicZdd=s NFAL
19,200,000 * 14! 19,200
== 5,760
Al 13,440
ZHANAIAX & SAKAF W= 1,770 1,770 0
201 er23| 1,770 1,770
01 At2teltl 1,770 1,770
AN HEL & SAEL s Wi A
x 7,00021%13]x2002 1,400
ONQUOINY DR B4 M
110,000 *1H 110
OXgotad WS X-tiu XM=
80,0003 »12]*2CH 160
OXYMA WEH =235 78
100,000& %12 100
slEd ZEE 2l A 767,3% 0 767,39%
= 327,636
= 98,291
Al 341,468
307 el2to| & 767,3% 0 767,3%
= 327,636
< 98,291
Al 341,468
02 2IZHB A E & 767,39% 0 767,39%
020234 AlsH FHE L] Al
767,395,000 * 14 767,3%
= 327,636
< 98,291
Al 341,468
AEE AR SEAIL(HE) 174,300 174,300
307 elztol & 174,300 174,300
02 2IZHBYAIHE A 174,300 174,300
OulsE Aal3sgs X (HE)
174,300,000 *14] 174,300
NASSH LR2IA (A E 830,519 0 830,519
== 498,310
Al 332,209
101 e124d| 830,519 0 830,519
< 498,310
Al 332,209
M ORIMZZ2NSE S 830,519 0 830,519
OelA| 1,148, 9602 x80& 23| x4 735,335




R CIE[EE-E
Hu: HAS AT U HUHS LXK

el eI XIZAAIS (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 441,201
Al 294,134
@ZIN L==h= Y= 735,334,400 *11.5% 84,564
= 50,738
Al 33,826
OMz8l 10,620,000 * 14! 10,620
== 6.371
Al 4,249
A M= 2,985,911 4,831,765 A1,845,854
= 248,400
= 327,040
Al 2,410,471
ESISRSERESS| 2,985,911 4,831,765 1,845,854
= 248,400
[ 327,040
Al 2,410,471
FEEM I8t =4 12,100 9,900 2,200
201 er23 | 9,100 8,100 1,000
01 At2t2ltl 9,100 8,100 1,000
OHUEHIAS §O&MIT
70,0003 152 +23] 2,100
OFEZHMAYG| 32(3R2e2t S)
1,000,000 *22] 2,000
OFHEY 822 MH
1,500,000 22 3,000
O34 HAEYY Ja FAUAE HA w2t
40,0002 x50 2,000
202 048l 3,000 1,800 1,200
01 2L AL 3,000 1,800 1,200
OHUEM o2 27 0/
150,000 *5& *43] 3,000
ANSatd AT HE AL 12,000 8,000 4,000
301 2eEN= 12,000 8,000 4,000
11 dALREIXIE S 12,000 8,000 4,000
OSZ-MS NAgdFHLNIHE(HLE
JAFS X 100,000 x10H «3& *4 3] 12,000
dg Y 2&58eis A3AY 299,000 293,000 6,000
= 89,700
Al 209,300
307 @I2t01 & 299,000 293,000 6,000
s 89,700
Al 209,300
02 QB HANEER 299,000 293,000 6,000




od
i’
oF
uJ

< 333 318 <
ARSAES] oo
20 o | o |o
Klo
E
E=)
38 S S S S S 55% 3138 S 318
S S S @ @ <] SIEIE B3 S S|
e 3 3 3 S S R SJEIE q o |
uiled
KIS
8838188 38|18 8 8|8 S S8 38I183I8¢ 8|8 S L IJJ|ID D S 3188 S 88 8 8818
S K ®|lo o I|o8 Je S8 JeS oS ne ©9 VXN HBSIS S SS N &3S
gEgescasns IEEJEgNERY YBEBEERE z="|° ~ “|§IH/°
al
<
=
H = H = H = H =
Ed o =) s 8 ol
* N * LY *
i 20 i o & o
| - % M, m
o S ®
m.._ < W ~ mom
31 ¥ S S %m
= 2 i
< = o o
< ol IS
W o 3 m,S
. ol R - .gro =
= ol = = U MH
Flom = Kk K0 o0 Ulo
o 5 i b0 o = _ _
Y| s o = ! o = i =] D
. K- T a0 o _ | o 8o
ar ~ LI O o D= gl ]3]
0 D EL 20 E.ﬂ_ W_P._ m_n _.._o
x. ke ~ Wﬂ 7% ol |~ < Ao
X ) . ) = S = S
I+ i ®0




2A:

S HENBER
el 3EEHFA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFHLIcISEHH SHOIX RXl2eld]
250,000 * 122 3,000
307 gl2to| & 219,000 219,000 0
= 14,700
Al 204,300
02 QB AANEE R 49,000 49,000 0
OFdELicISEE &8st XJAY
25,000,000 *14! 25,000
< 7,500
Al 17,500
OzdELAcISelE 2lAH| XA
24,000,000 1 24,000
= 7,200
Al 16,800
05 git?(& =S 170,000 170,000 0
OFEAN2ISTHE FIS2L|
170,000,000 * 14! 170,000
SXY ZUdEUE dNeiSAHA XM 496,800 464,000 32,800
= 248,400
Al 248,400
307 elztol & 496,800 464,000 32,800
= 248,400
Al 248,400
02 2B YA R E A 496,800 464,000 32,800
OSEE FYEIE 2L A2AY
496,800,000 *14] 496,800
= 248,400
Al 248,400
FEI2oEHE Al OHEFA 500,000 500,000 0
308 XtXIEMSO0IE 500,000 500,000
11 BIIZHSOICHE S A E P AL 500,000 500,000
OHAZS B3 HERD 2= U 25
gHE O 150,000,000 *14] 150,000
OFEENE FatZzy 'FHS0t 238t
s 350,000,000 *14] 350,000
SR0120] 2.0 g Xiel Z2HE 606,557 606,557
308 AFAIEHMSOIH 606,557 606,557
11 S [2S0 e YA AS A 606,557 606,557
OE=0120/ 2.0 FEL el Z2HE
606,557,000& x14] 606,557
S FY oiAFE KA 100,000 100,000
307 el2tol & 100,000 100,000
02 2IZHBYAIAE & 100,000 100,000
O=SE F4H oll2dFHY XA
10,000,0002 10 100,000




B CIETEEE
. dY2IIH(LAeFEE D)

Sl Jl=ZHl(LXelZEE ) (S & 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HH2IAH (LA e/ HEF =) 59,720 53,376 6,344

[2ZHI(LXe|ZEE 20 59,720 53,376 6,344
JlEZu(LxeldEE mn) 59,720 53,376 6,344
201 fer= 3| 23,420 21,876 1,544
01 At 2t 23,420 21,876 1,544
Oget=EH| 14,012
-JIZARES 100,000 14 1,400
-J|2EAE S 150,000 %12 150
~=AD| KXl
500,000% *1CH+*32] 1,500
-SAPDI &Y 150,000 » 1CH*32] 450
-SAD| E™ 330,000 *1CH*43] 1,320
-SAIEA 23,0002 =202t A% 123 5,520
-dIOIMZ2IE JtECIX
237,000 «1CH* 123 2,844
-F=)HEs 69,0002 *1CH* 122 828
O=gl 9,408
EEET N
8,000&x 14 75|+ 123 9,408
202 04dl 33,600 28,800 4,800
01 2L AL 33,600 28,800 4,800
OgAl3EE R 2= 2 04|
20,0002 x142*102|* 12 33,600
203 gF=4| 2,700 2,700
M FA2HLRFAI 2,700 2,700
OgTie|gEE ML FASLFNLI
250,0003 x 122 «90% 2,700




